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-2 Ut el f 200,000& = 4L = 23| 1,600
-FAX 120,000 * 1CH = 33| 360
02 Z2=2=294| 1,517 1,517 0
O#AAH RAE2H| 1,517
-CHIIs AR D1D] 1,300,000& = 17CH = 5% 1,105
-T2l g 4,000,000€ * 5CH * 2% 400
-FAX 600,000& = 1CH ~ 2% 12
202 o4 | 2,400 2,400 0
01 2U10i b 2,400 2,400 0
OFMABSY 28 oyl 2,400,000& 2,400
203 € R F=&d| 3,000 3,000 0
04 ENSHE LR F=XH| 3,000 3,000 0
ORI YR 250,000&  12& 3,000
QI SHY|(EAAE ) 25,152 25,152 0
oleddy|(ely]) 25,152 25,152 0
101 21214| 25,152 25,152 0
02 JIEtE 2 % 25,152 25,152 0
OogdEgxg 40,0008 » 29 « 128 960
o=
6,800 * 2% x B60AlI2t » 12& 9,792
oddss &2 600,000& * 2% * 12& 14,400
HBE=S(FAAED) 450,952 0 450,952
BHEX= 450,952 0 450,952
SNSAKNBHEY SYH HES 450,952 0 450,952
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SN BLAED
HE: HRHS(SMASD)
el BEXE o
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
701 JIEtSI HSEES 450,952 0 450,952
01 JIEtel HE &= 450,952 0 450,952
BH 2498 d&82
450,952

450,952,000
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